7000 GeV pp Top (parton Ievel)

R R &

80 — IAy| (ttbar) (dy < 0) =

- o~ Pythia 6.428 345 .

70 [~ - Pythia 6.428 346 —

—  —A— Pythia 6.428 370 =

B Pythia 6.428 default ]

60 — —a— Pythia 8.180 default -

50 — —]

40 — —

C G ]

30 A=ag. -

20 |- B —

10 - —

u EAYRLE .

~ [ Ly | | | | Ly | | | a e | | | o ]

:l T T T T | T T T T | T T T I I I |:

2 & =

To) — _

< L _

™ — _]

N - .

< - ]

3 u ]

P - .

1

> _
o

S B i

2 — -
5

ks B i

0.5 — _

| 1 " 1 1 1 | 1 1 " 1 1 | 1 1 | 1 1 1 1 |

Rivet 3.1.10, = 300k events

mcplots.cern.ch [arXiv:1306.3436]

N

0.5



	Contents
	Page 1


